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IO TS AL )0 B 92 (1) LT B .y e )
Dée-4(-2.) LA
x*+2x +1=0 has the solution g_a,g‘J’sz +2x+1=0{ (D
{-1,0} @D {-1} © {0} B {-1,-1} A
If A'=-A then A is called et AdnAl=-A 1| @
Skew Symmetric J#& # (D) Transpose J%IXC) Square matrix B, (B) Symmetric ._)G’gf\‘; (A)
In a unit matrix diagonal elements are WL I I AT AL | (3D
Zero p# (D) 3() 2@ Unit (One) (A)
A straight angle contains q.t'x,?»(gp IRRCY
360° (D) 270° (O 180° (B) 90° (A
The number of angle bisectors in a triangle is 4.&;1;1,6"0’ uﬁ’l:éug;ué&ﬁcfr &)
4 (D) 3@ 2B 1MW
The number of perpendicular bisectors of the side of a triangle is c‘:,émaﬁJquz:cume( 6
4 (D) 3 0 2B 1 W
Area of a square with side * S * is ctujkn °S° ¥t | (D
28 M 48 © s ® ST
In the plane with every ordered pair is associated etnllte e i 2l | (8)
Four points b (D) Two points s (C) A unique point &L (B) Zero p (A)
The coordinates of the origin are W s Liar | (9)
0,0 M a,o0 © 0, D@ 0 (A
(a+b) —(a-b)* =7 (a+b)* —(a-b)* =7 | (10)
2@2bH (D) -4ab (€)) . 2™ b (B)  4dab (A)
(a+b) (a’- ab+tb?) =2 (at+b) (2% ab+bH =7 | (A
@b’ @ @b’ © @) B 2 b A
A quadratic polynomial is of degree =? q_c'n,?u((}; G | (12)
3 D) 2 © 1B 0w
Factorization of (x+3)* -4 is e J 3 -4 1 AD
x+D&+5 @) x-D&-5 © G-D&+5 B G+D&-5 A
HCF of 12pq “8p’q is e ubK 8p°q i 12pq | (14)
4p*q (D) 4 pg* (© 4 pzq2 B 4pq (A)
Solution of [x-3]=35 is eerf¥x-3]=5]| U5
{-8,2; @O {8,2} (O {8,-2y (B (-8,-2} (A
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Q. No.2 Write Six short answers to the following 2x6=12 r..".f R L P ails A Letvrge fditn 2 Ay
If POO =x" 3x" — 5x+9, then find P(0) AU PO) In PO =x*+3x>-5x+9 S| 1
f x=2+V3,thenfind > | gErredd - In x=2+3 Ji|2
Solve by formula (2x+3y)* Cx+3yY L sulirs |3
Simplify (V12 -+/2)\20-3v2) W12-vV2)(W20-3vZ) 254 |4
Find H.C.F by factorization 12x’y*, 15x%y? gf:"'ﬁ' Waff 2ux 1237 155°y 5
Find L.C.M by factorization 35a’* y,28a’xy" - g”:’rﬁ"ﬁ ISbsisif i 35a%x%y , 28a’xy” | 6
'Find H.C.F by factorization abxy , a’bc - 2._-,(}"(” b 2% abxy ,a’be |7
P _ f e i Sugind ez | 8
- M > W-rite down the angles marked with letters
: 151 % .
o /1 . /4 '4( Izl gl e AP | 9

. /ﬁ j/ . > From the given figure , write down the two pairs of supplgmentary angles

Q.No.3  Write Six short answers to the following ~ 2x6 = 12 é!?-f/j A2 Ly g Bdits 3400

Factorize 2a® - bc —2ab + ac : 2a’ —be —2ab + ac 2557 1|
Factorize 98— 7x - x* 98-Tx-x" & 0 | 2
Factorize 216 P* - 343 : 216 P ~343 zEy7 | 3
Solve 3(2x+5)=25+x 3(2x+5)=25+x 25 | 4
Solve zx‘:“ =1 2}:_1 =1 &S5
Solve  3(x~2)<2x+1 . 3x-2<2x+1 &£ |6
_ n € S AL S Zfrﬁ'/,b’uh.,;t/us‘br:’uvd,um 7
¥ind the hypotenuse of the right 1sosceles triangle each of whose legs is “ £°
Find the area of an equilateral triangle whose side is 8m _ 45(:"‘4.:(4‘:.;{8&’ KU ALyl | 8
Find the volume of a sphere with radius 3 cm e RE3nN e E0 s | 9
Q No.4  Write Six short answers to the following. 2x6 =12 df/ L7 uwj’/"' Lty getidits 4 Al
Solve by factorization method x*- 4x-12 =0 X 4x-12 =0 25 f§ TEDAR
Solve by factorization method 3x*- 8x-3 = 0 3x%-8x-3=0 2L U2
Find the matrix product of {;3 wz 1] [:i g} [_f 21} [—i 3} Zhed A bR | 3
Identify the singular or Non-singular matrix [—;a :] [ aa b] zfulff S Mo St | 4
Find the additive inverse of [ﬁ 3_] [ﬁ & ] gheboy gt |9
I m n4r - : \/;j m n
Find transpose of [p q r] [p q r] 2:.‘6;4"!) 6
a_b ¢ a b ¢
E)raw a triangle ABC in which ~ mBC=5.4cm, mAB =4.3 cm, mAC = 3.9 cm S et | T
Draw a circle of radius 2.5 cm with centre at O i l§Yr 25 40" Sy |8
Find the distance between the points (7,-2),(2,3) - (7,-2),(2,3) b ldigpnlis | 9
77
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NOTE : Attempt any THREE questions from this part 8x3 =24 é_—"'rd' Il et o g
a+b’+c* =81 atbic=11 Fefps =ffab+bc+ca| (A -5.Q
Find the value of ab + bc + ca when the value of a*+b%+c? =81 and atbtc=11
1), F+D), Q-y-2y") e Fioonnsdan | B)
Find Least Common Multiple (L.C.MD by factorization (1-y%), (*+1), (1-y-2y?)
Resolve into factors Z*—Z7%2+ 16 ' | Z' -7+ 16 btz | (A-6.Q
. " _[~1 -3 2 6
- 1 Lo BA I B= [T ol a=[2 24 ®
— e N -3 tat
If A= [7 8] , B=| 5 0] , " then find B'A'
x—2 2 x—4 ‘ . x—~2 2 x—4 2 5
Solve X242 o xt T+t W
Solve by using the quadratic. formula Qx +4Y - (4x~ 6 =0 ’djf S sl Ko | B)
e P et miC=55 m/B=65, mBC-54 Fluttt ABC &4 | (0)-8.Q
Construct a triangle ABC in which m BC = 5.4 cm, msB =65, meC=55°
Find the centroid of the triangle
Jt}" 2(3&’:’1)’/” 3(}‘/{:}/ 4JUJU” Z:rﬁk' fz (J_ﬂ; Juﬁ B)
Find the volume of a rectangular box with length 4 m breadth 3 m and height 2 m
Solve the simultaneous equation by the matrix inversion method 2_-'-( S L Ui fudon | (A)-9.Q
x+y=2
y=2+x
wldifie DU, DECE2,5 4 B@,-3), AG,8) s | @)

Show that the points A (5,4) ,B(4,-3),andC(-2, 5) are equidistant from D (1, 1)
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15=AF w» 20=4) & st nd e PLadR
LL:(JL-JW&ﬂv‘L.,.«l:’!c'/u:_ufu;)'uété:-_:&lrédlr;;Qb’Qlﬁ.wéé;..J DuslA,B,C eyzbilglys bl
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D%'GZ'Z! l/dlr
A straight angle contains q..rx.;w(,{?v 2 | (D)
360° (D) 270° (O 180° (B) 90° (A
The altitudes of a triangle are B alliilals | (2)
5 (D) noncollinear L7 4 (C) Collinear W% (B) Concurrent * 7445 L1 (A)
The number of medians in a triangle is q_JmlﬂJufl&m_ﬁwu{l 3)
4 (D) 3@ 2B 1M
Area of semi-circle is gt Minid | (4)
To ok © o ® 2w A
Volume of a cube with edge ‘£~ is n O WHAECAL | (5
2 M £ O 34MB 2 W
A point in 4™ quadrant has its ordinate q.,anog'," J&gi;’i'&ﬁéudé;ig ©6)
One 1 (D) Zero p# (C)  Negative & B) Positive =2 (A)
(at+b) (a*-abtb?) =7 (a+b) (a®-ab+b) =2 | (D
24D @-bP ) b} B 2-b W
£ UnI 2 QGO 7 B fx Qe # 0 St MANPY B i ®
An algebraic expression of the form %% , Q) # 0 p(x)dnd Q(x) are polynomials is called a
Mixed surd (‘ 145#5F (D) Surd (‘ 144+ (C) Rational expression Az, P (B) Rational numberss e (A)
A linear polynomial is of degree = q.t'n,.,wb’g?;,éf IS SNC)
3 D) 27 (O 1 B 0
LCMXHCF _ LCMXHCF | (o
First expression 1 g
LCM Fiuiwhs 0 HCF b (© 1 (B) Second expression My (A)
The number of methods to find the H.C.F ﬁ-_;lﬂgfuﬂ)ﬁa’_f (J",}' e | D)
3 (D) 2 (© 1 (B 4 (A)
Solution of |x-1|=4 is eerJ¥ x-11=41012) |
(5,3 @  {5,3}©  {5,3 ®  {5,3} W
Solution of x*=1 is eer ¥ x2=1103)
1O F©  ® (11w
In matrices (A+B)" | Ludi(A+B) | (1D
A'BY @ A+B(© B ® AW
In a unit matrix diagonal elements are wz_nuls’ﬁé)':uﬁ.,’s'équhgl (15
Zeto # (D Unitor 1 © 2® 3 A
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b PR ¥ TP



*

10" CLASS - 12021

210 = =5 ' W20 GENERALMATHEMATICS (P2
60 = A Do -G22/ Yo g
Q. No. 2 Write Six short answers to the following 2x6=12 £( N Yl d:uwr{c'_gﬁdJLJ) 2 Ay
If PO = X" shen find P(1) e B Jn PO =240 g
Reduce to lowest form f—;{{; f;‘:i'i Z-._:.f Sy | 2
Solve (3p + q + 1Y Gp+q+1’ Z/S 13
Raticnalize the denominator ﬁ ;—:1—\/? “btnf | 4
Find HCF by factorization 354%c’b , 45a°ch? , 30ach® et P oA 2 | S
Find L.CM by factorization 2ab,3ab,4ca 2ab,3ab,4ca  Z e Proonisf 2 | 6
e i, Usiie 100° 3% L 100° osZ¥Ugitsns | T
The sum of angles is 100° , and the difference between their supplements is 100°. Find the angles
_ | _ e L Supinid b & s | 8
\é Write down the angles marked with letters
P \DK‘ " :
151 _
. . J <52l Uisin }um;ﬁgfgf’oﬁ: 9
PR 4 / VT\ / Look at the given ﬁgure and write the corresponding angles
t
Q No.3  Write Six short answers to the following 256 =12 &, fepiz # Latvge tbion 370w
Factorize 98 —7x - x ‘ 98 —-7x -x* &£y |1
Factorize a’+a—3a®-3 &@+a-327-3 Zyf |2
Factorize 8x° -y ' 8’ -y Zys |3
Solve %"-343’—4 %-35-—4 ZJ |4
Solve 3Qxt5)=25+x 30x+5)=25+x &£ |5
Solve VZx—1=5 | e VIX=1=5 /|6
b=5,¢c=61,a=? ai‘c’uumlysia,b ﬁef,-#‘&’v A adb )55 | T
Find the third side of each right triangle with legs a and b and hypotenuse ¢ b=3 , ¢c=61, a=?
Find the volume of a cube whose a side is 4 cm nplE4 (e &’u?ér#ﬁ KAl L] 8
| Solve %=1 =1 /S0
Q No.4  Write Six short answers to the following 2x6 = 12 c’-{}uyw ALy g Sl 4 Ay
' Solve by factorization method 3x’- 8x -3 =0 3x-8x-3=0E S Ufan | 1
Solve by factorization method (2x + 1) (5x-4)=0 Qrx+DGx- D=0 Zf672u]|2
i a=[y 3], =] 7] Find A+B #e aBin A= [0 3] =t 7] 5|3
Find the additive inverse of [2 5 --3] [2 5 -3] &fpbyusut |4
Find the additive inverse of [—f _ﬂ [ :i g] [_j _‘i] [ —i 35,} eS| 5
Identify the singular or Non-singular matrix [;a g] o [ aa b] fulﬁ.’cf Ak st 6ﬁ]
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| mAB = mBC =mAC = 5 cm (2?25 ABC afisilocfi | 7
Draw an equilateral triangle ABC in which mAB =mBC=mAC =5 cm
Draw a semi-circle with diameter 4 cm and centre at O x Z,Qofl;hﬂUlJﬁLJH RE 4 440 S8
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7 __F_ ind the distance between the points (a,-b), (b, -a) (a,-b),(db,-a) EfE(JVJJGuL»uLW? 9
"u,.a?
NOTE : Attempt any THREE questions from this part 8 x3 =24 c:'f-r Srf $fe U <
5 5 x2+2x 3x x?4+2x 3x LS i
Simplify 5+ oz T B4 | A0
Find H.C.F by factorization x’-8 , x*-7x + 10 X8 , X-Tx+10 2k P slyf | B
Factorize x'*—y' x?-yPEgs | (A)-6.Q
Let M= > 2| Findthat M'M opei§ MM I M= L 24 ®
3 4 = - 3 4
Solve V2x—1-+x—4 =2 VZx =1 - Yx—4 =2 'cj{d’ (A3-7.0
 Solve by completing square method ¥ —-10x-3=0 x*A40x—3=0 éc)’c;d/f 3B)
ngiii¥ 90° g nloiunt 4 s 5 LU Lt 2 L (A -8.Q
Construct a rectangle whose two adjacent sides measures 5 cm and 4 cm , and their
included angle is 90°
"l (..-Q) 1 J&Julf 4 Lfﬁﬁséu’ér#‘(fbﬁih,g ®B
Find the volume of right circular cylinder with circumference of base 4 cm , altitude 1 m
A CE,3) wB6,2), AQ, 4 S| (W)9.Q
Show that the points A(2,4) ,B(6,2), and C(4, 3) are collinear
x—3y=5, 2x-5y=9 ZFSUlc 3 plAl| B)
Use Cramers rule to solve the simultaneous equations x —3y=5 , 2x-5y=9
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